Unit 1 Quiz 2 Review

Name: Date:
. sinxcosx . 7.  Let f be defined as follows:
1. lim —— is
x—0 X 2 9
¥ =
fx) = { T3 for x # 3,
1 forx=3

Which of the following are true about f?

I limf(x) exists
x—3

2 lim SO IL f(3) exists
=0 2x

III. f(x) is continuous at x =3

sin 9x
3. im — =
x—0 sin Sx
8. Let f be defined as following:
2
_ ) x*—=4 for x>0,
Jo) = { 2ax for x<6
-7
4. 1in71 |x 7| = For what value of a is the function continuous?
x=7" X —
-2
5. gim SX=21 g
x—2t X — 2
2 _
9. f(¥= {x2 45 for x > 9,
ax for x <9
For what value(s) of a is the function continuous?
6. m 2= VX S
. im i
x=47 /4 — x
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X2 +2 for x<0,
10. Consider f(x) =< 1 for x =0,
2=2 forx>0

a)

xl_i)r(r)g fx) =

b) lim f(x) =

c)

lim f(x) =
x—2
d) Where is f(x) discontinuous?

If a function is discontinuous at x = a, does
this necessarily mean that lim does not exist?
X—=a

e)

T(x+h)? -T2

11. &
Izl—I>I(l) h
. Vx+h—x
12. lim ————— =
h—=0 h
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13.

14.

15.

16.

lim G2 I
h—0 h
8x3 -1

m —, =
xod 1002 = Tx + 1

Find A so that lim
x—>2

. VAx+B-2
If im ————

x—0 X
of A and B?

X2 +Ax—10

exists.

= 3, then what are the values
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1.

Answer:

Points:

2.

Answer:

Points:

3.

Answer:

Points:

4.

Answer:

Points:

5.

Answer:

Points:

6.

Answer:

Points:

7.

Answer:

Points:

8.

Answer:

Points:

9.

Answer:

Points:

10.

Answer:

Points:

11.

Answer:

Points:

12.

Answer:

Points:

13.

Answer:

Points:

14.

Answer:

Points:

—_ N

— o

I and II only
1

+2

-2,2,2,at 0, no
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15.

Answer:

Points: 1
16.

Points: 1

Answer: A=12,B=4



